










A#B means A is the father of B. (A, B का पिता है)

A%B means A is the sister of B. (A, B की बहन है)

A@B means A is the wife of B. (A, B की ित्नी है)

A*B means A is the brother of B. (A, B का भाई है)

A&B means A is the son of B. (A B का िुत्र है)

Q-6 Which of the following means A is the grandfather of R?
पनम्न में से पकसका अर्थ है A,R का दादा है ? 

(1) F&A@J#K%R
(2) U*R%H&A%K
(3) A@H#J*U%R
(4) A@H#K*M#R
(5) A#B*C#R%H







Q.1: Two positions of dice are shown. What will appear on the 

opposite to the face containing 5?

(A) 3 (B) 2
(C) 1 (D) 4
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Q.2: Two positions of dice are shown. What will appear on the 

opposite to the face containing 3?

(A) 3 (B) 2
(C) 1 (D) 4
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Q.3: Two positions of dice are shown. What will appear on the 

opposite to the face containing     ?

(A) @ (B) %
(C) $ (D) CND
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Q.4: Two positions of dice are shown using A to F letters. 

What will appear on the opposite to the face containing B?

(A) F (B) C
(C) E (D) CND
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Q.5: Two positions of dice are shown. What will appear on the 

opposite to the face containing Brown?

(A) Blue  (B) White
(C) Red (D) Green
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Q.6: Two positions of dice are shown. What will appear on the 

opposite to the face containing 4?

(A) 3 (B) 2
(C) 1 (D) 5
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Q.7: Two positions of dice are shown. What will appear on the 

opposite to the face containing     ?

(A) @ (B) %
(C) $ (D) CND
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Q.8: Three positions of dice are shown. What will appear on 

the opposite to the face containing 2?

(A) 3 (B) 5
(C) 1 (D) 6
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Q.9: Three positions of dice are shown. What will appear on 

the opposite to the face containing O?

(A) # (B) +
(C) % (D) &
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Q.10: Three positions of dice are shown. What will appear on 

the opposite to the face containing A?

(A) C (B) D
(C) E (D) B
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Q.11: Four positions of dice are shown. What will appear on 

the opposite to the face containing O?

(A) * (B) $
(C) @ (D) +
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Q.12: From the four positions of a dice given below, find the 

colour which is opposite to Violet ?

(A) Red (B) Yellow
(C) Blue (D) White
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OPPOSITE FACES IN OPEN DICE

(1) In this case:

1 lies opposite 5

2 lies opposite 4

3 lies opposite 6.

(2) In this case:

1 lies opposite 6

2 lies opposite 4

3 lies opposite 5.
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(3) In this case:

1 lies opposite 4

2 lies opposite 6

3 lies opposite 5.

(4) In this case:

1 lies opposite 4

2 lies opposite 5

3 lies opposite 6.
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(5) In this case:

1 lies opposite 3

2 lies opposite 5

4 lies opposite 6.

(6) In this case:

will be the one of the faces

of the cube and it lies opposite 3

2 lies opposite 4

1 lies opposite 5.
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(7) In this case:

and are two faces of the cube

that lie opposite to each other.

2 lies opposite 4

1 lies opposite 3
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(8) In this case:

will be the one of the faces of the

cube and it lies opposite 3

2 lies opposite 4

1 lies opposite 5.
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Q.13: The figure given on the left hand side in each of the 

following questions is folded to form a box. Choose from the 

alternatives (1), (2), (3) and (4) the boxes that is similar to the 

box formed.

(A) 1, 2 and 3 only (B) 2 and 4 only 

(C) 2 and 1 only (D) only 4
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Q.14: The figure given on the left hand side in each of the 
following questions is folded to form a box. Choose from the 
alternatives (1), (2), (3) and (4) the box can be formed.
(A) 2 and 3 only (B) 1, 3 and 4 only 
(C) 2 and 4 only (D) 1 and 4 only

1



Q.15: The figure given on the left hand side in each of the 
following questions is folded to form a box. Choose from the 
alternatives (1), (2), (3) and (4) the box that can be formed.
(A) Only 2 (B) 2, 3 and 4  
(C) Only 3 (D) 3 and 4 only

1 2 3 4


